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Suppose customers are arriving at a ticket booth at rate of five per minute, according to a Poisson
arrival process. Find the probability that:

. At least one customer arrives within 40 seconds after the arrival of the 13th custo 2
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1. Let X ~ Unif(0,1). The density of Y =
X? is:

a fly) = \/1— for y € (0,1), zero else.
@(ZD \/— for y € (0, 1), zero else,

c f(y) =1fory € (0,1), zero else.

d none of the above
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(3 pts) Suppose the random variable X, which measures the magnitude of an earthquake (on the
Richter scale) in the Bay Area, follows the Exponential () distribution. Since the Richter scale
is logarithmic, we want to study the distribution of the total energy of earthquakes. Find the

distribution of Y = eX.
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